
 

 

Section - A 

Q1. Multiple choice questions:                                                                                                   [Marks – 8] 

1) Multiplication is also called as repeated . 

a) division b) addition c) subtraction d) none of these 

 

2) Which tool can be used to measure capacity? 

a) weighing machine b) measuring tape c) beaker d) clock 

3) If 2 glasses can hold 500ml of water, then 4 glasses of water can hold_________water. 

 a) 750 ml b) 500 ml c) 250 ml d) 1000ml 

4) Find the value of 8 x 8 is . 

                a) 43 b) 56 c) 45 d) 64 

5) Which of the following denomination in the Indian currency doesn’t exist? 

a) 2 rupees b) 20 rupees c) 42 rupees d) 50 rupees 

 

6) Division means dividing into groups of . 

          a) unequal size        b)equal size c) both      d) none of these 

7) If a tricycle has 3 wheels then how many wheels are there in 8 tricycles? 

a)10 b) 38 c)12 d) 24 

8) Which number is missing in the following number sentence? 48 ÷ _____ = 6 

a) 6 b) 7 c) 8 d) 9 

 

Q2. Fill in the blanks:                                                                                                           [Marks – 5] 

 

1) The result obtained on multiplication is called the _____________. 

2)   The big quantity of a ______________is expressed in litres. 

3) Division by zero is __________________. 
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4) In the number sentence 15 ÷ 3 = 5, 3 is called ______________. 

5) Rupees and paise are separated by using a ______________. 

Q3. Convert rupees to paise.                                                                                                   [Marks – 2] 

a) Rs 31 = ________________________________________________________ 

b) Rs 280 = _______________________________________________________ 

 

Section - B 

Q4. Write the division facts for the following multiplication facts.                                   [Marks – 4] 

MULTIPLICATION FACTS DIVISION FACTS 

15 × 6 = 90  

14 × 7 = 98  

3 × 7 = 21  

10 ×10 = 100  

 

Q5. Addition:                                                                                                                           [Marks – 4] 

 

 

Q6. Subtraction:                                                                                                                     [Marks – 4] 
a)  35 L 630 ml from 45 L 420 ml 

_______________________ 

_______________________ 

_______________________ 

_______________________  

b) 85 Rs 36 paise – 60 Rs 29 paise 

________________________ 

________________________ 

________________________ 

________________________ 

 

 

 

 

 



 
 

Q7. Multiplication using split method:                                                                              [Marks – 6] 

a) 80 x 9 =  

 

  

 

 

b) 48 × 3 =  

 

  

 

 

 

Q8.  Conversions:                                                                                                                 

A. Convert litre into milliliters -                                                                                               [Marks – 4] 

 

a) 77 L = ______________________________________________________________ 

b) 68 L = ______________________________________________________________ 

 

B. Convert mililitres to litres -                                                                                              [Marks – 4] 

a) 73000 ml= ______________________________________________________ 

b) 21000 ml= ______________________________________________________ 

Q9. Multiplication:                                                                                                                   [Marks – 6] 

 



 

 

 

 

Section - C 

Q10. Division:                                                                                                                            [Marks – 4] 

1) 55  ÷  5                                                                                  b)  70  ÷  7 

 

 

 

 

 

 

Q11. Word Problems:                                                                                                           [Marks – 9] 

1) Aditya bought 16 boxes of chocolates. One box has 5 chocolates. How many chocolates did Arun buy? 

________________________________________________________________________________ 

________________________________________________________________________________ 

________________________________________________________________________________. 

2) There are 72 mangoes equally placed in 6 trays. How many mangoes are there in each tray? 

________________________________________________________________________________ 

________________________________________________________________________________ 

________________________________________________________________________________. 

 

3) Rashmi had Rs174.50. He got a ball whose cost is Rs 54.50. How much money is left with him? 

_______________________________________________________________________________ 

_______________________________________________________________________________ 

_______________________________________________________________________________. 

  

 

All the best…….. 
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